AR - th HAR R 554508 JIHHT AR EBiBi RS [18014013]
YT R EFEE [12110]
2018/08/25 ~ 2018/08/26

hHF
I A 1 2fir 3L afir B 61 T 8fL

shzen| 1eioom |TEPI LD 12.65(4% i+ 12.98| 9 FH(1) 13.04 [ Afh faak(1) 13.20| A £ FHER(D 13.32 2R AR RB(1) 13.46( &7 ﬁit (1 13.50 (B L) 13.54
RN I -1.10 BT JE.: - L1 S R B e JE: 11| B Ja.: 11| B R a1 B A &L I Ja: 1.1 Bl e JA:-0.7

snzen| zwiom |EA BAQ) 1179 HEAR) 11.86[(5iE R72(2) 12.03[ Bl RIHR) 12.22|{RA B0 12.23[EE A 12.43[/E3 WER) 12.65| il BORE(2) 12.72
[t S JE:-0.60 |)E = EHEH JE:-0.60 |JE /R EHEH JEL:-0.60 |82 JEL:-0.60 |#lg AL JEL:-0.60 | $I% s B J&.:-0.6| BIEE S22 Ja:-0.6| AL th J7:-1.6
[ INO)] 24.17|ejE F22(2) 24.36 B AKIE(2) 24.92(t@ M IEAQ) 25.49B)I1 EL=R(2) 25.60 W Kif2) 25.62 i fERQ) 25.73

851260 200m [ Je8 1% H JE:+1.00 |EEEHEH O [#EZ O R EREH O | JRL:+1.0 Sl g cp Ji:+1.0| B JE JiL:+1.0

JENT HHE2) 25.60
HIpE - Erh JAL:+2.2

85126 100m e RER@) 57.56 [ 2 (2) 58.70(/Ma  JE(2) 59.59 | AL FE) 1:01.81 [Fr N EFH(2) 1:03.03
R O|#igg sz Ol FEL A R HIpE FE

85126 800m AHOER2) 2:14.29 |87 HEKER(2) 2:16.60 [/ s HEQ2) 2:19.06 [ B BHREQ) 2:19.52( 1135 AhHE(2) 2:21.66 [ H HAR) 2:24.64
HE AR O[EmH N Ol FEL AP e N han B BB B AR

851260 isoom | 5P TRFA) 4:38.97 ()13 AhHE(2) 4:42.02 B B2 s RR(2) 4:50.59 [JH4y  BRKE(2) 4:53.05[FEH FHEF(2) 4:53.85| kM HFH(2) 4:54.89[FHF JAA(1) 4:55.53[f H HAR) 4:57.98
S B O |8 B O | BIIHeE |- 76 51 B an BIEg AP SIFE AR P PR 22 BilHE EAR

shosh|  sooom | TRFHE) 10:02.95 |4 BRFE(2) 10:19.74 51 A (1) 10:21.52 | B 5 % 5L AR (2) 10:31.36 [ZLMH  HhEF2) 10:34.00 [ BHFI2) 10:35.93 L)1 #1461 10:43.49 [ B3 A1) 10:57.49
B3 SR Oz H O | EVBRRERE 7 [ O [ B EvEARH e SR AL SR E P SRS

826 |110mH(O.914m)| E T Z574(2) 16.72 (85K #iI5(2) 18.25| 1l Bk (2) 18.31 (% JB{A(2) 18.94[#4E H A Q) 20.43|FH fEA(2) 21.85 | FARFE AR 21.86

JR:A0.2 | ufm e o O[#liEg b O} O g AR O [ Bl e B Bl

P FE A 48.65|EjE EEEF 49.10|#FEFEHB 49.45 | fBJE 49.68 |$IEE FER 49.91 |#IE& Ak 49.97 [#EX5 50.61| 8 K 50.67
i)l RET(2) O &) OPIF H(2) ORE R¥E Q) O&iE  #Q) O 5LEH2) FiliE KAE2) WA k)

8J126H| AX100mR | 7HF ZRHE(2) Kig A&i(2) 0 B2H(2) FIE —852) B BHR) B HE(Q) IR K 2) B AR (2)
ERNIFEIRQ) Vejig 272(2) T fRaE#R(2) H &%) Ve BIEQ2) BIFH —H1) Bl FIk() )]
JENL W (2) fEH HEAQ) W 2 EE) R BiKQ) i B{A©) AR HIEQ) TilkE HHEQ2) AKHFEZ N (2)

shoen| e |0 MA@ 1m50 (483 #5(2) Im45 | H P(2) 1mA40| T+ IR #E(2) Im30 [ 278 Fd(1) Im25| - KA(2) 1m25
e SIHE_F R B e FIEE S E T I e e

shsen| mg L BKQ 5m60(+0.9)[R% REER)  5m29(+0.4)[fiE JEAQR)  Bm21(-0.D[MEL EH#(2)  4moAC2.0)|fER BE2)  4m92GLO)|PTIl AIQ)  4Am810.0)|F3H K@) 4m73(-0.5)|FHE  F(2)  4mE8(+1.5)
T O[T O |#EsFR T O [#EE s EP P LR BUYEPE R B BET SIFE AR

gioen| R R FE(2) 10m99| H T JifiiE(2) 8m53[HF  #(2) Tm73|thiE PE2) Tm61 | S FEA2) Tm44 |4 42 Ahit(1) 6m75|KFH AEE(L) 6m74| 2 H2H2) 6m71

(5.000kg) | gl s o] 3] ot O | s L S ORI EF B BT 2] AR BIlE EER [ £ Ziilan e

AR HI5EQ) 16353 | H°F AHRE) 1507 5 | Frli IHE(2) 124058

8H26H| PURESH:  |@IKAL O |#8)EH+ O [#Ez
18.53(~1.4)-7Tm24-1m45-57.89 19.55(-1.4)-9m50-1m35-1:00.92  |18.69(-1.4)-6m03-1m25-1:03.20

JLBI O:AfERDsR




AR - th HAR R 554508 JIHHT AR EBiBi RS [18014013]

g R b2 BB [12110]

2018/08/25 ~ 2018/08/26

hELF

AAF A 1 A 3 4fiL 5 6/ T 8fL

871260 14100m THE (1) 13.28 [FRAPEFF() 13.87[1H/K  HERH(L) 14.03|/NE A # (1) 14.09| 411 ESAR(1) 14.43| ¥ Eyii(l) 14.44| A #5H 1) 14.51 [ #5350 14.52
S SHEE R -0.40 | #IE S EH JEL:-0.40 | B S JEL: —0.40 | FEIE K 7 J&.:-0.4| §IFE B B JEL: 0. 1| B 5 e e JBL:-0.4 BB SIS JaL:-0.1 | Bl e Jil:-0.4

sfizen| oteroom |8 25D(@) 12.86| /KB HHk(2) 13.33[H5 HR2) 13.37|HE Fafh(2) 13.44 (48 1H 3£22(2) 13.52 |3 TIRQ2) 13.74|(FE HIHk2) 13.84| 4 0F £H Q@) 13.92
i A JE:+0.90 |JE = EHEH JE:+0.90 |l ks JE:+0.90 | & JEL:+0.90 |FIi e E JEL:+0.90 | PR I J&.:+0.9| $lFE TR Jal: +0.9| Bl FE L2 JR:+0.1

851260 soom | L (D) 27.53 |48 0A 3£22(2) 27.82(/KHF  H(2) 28.22 (1K HERE(1) 28.38| 1R Fih(2) 28.41|/NEF SR E3E(2) 28.41|LigF AZHk2) 29.61 |#AE<B(2) 29.94
HIEBERES A +2.30 B RE S JE:+2.30 |JE R EEEH JE\:+2.30 | B I L +2.30 | BIFEH JE:+2.30 |#IEg e JEL:+2.30 | FfHE Sl Ja:+1.6| BIEE L2 e J:+1.6

A6 H 800m AE EFiI) 2:32.39 & H E3(2) 2:34.16 [ #H£<(2) 2:36.99| A J42) 2:37.22| A EBERE) 2:37.75| 1w HA(1) 2:39.77 (Kt Hif#(L) 2:42.57|fHiE AHL(2) 2:44.40
RESPER O I O[#lEg b B I P flES G B Fpg I A

e T E A 5:07.48 (KB SEHI(D) 5:12.86| AR L) 5:14.26 | A B 5:17.68|fEfR #i(2) 5:26.08|fHjiE RHL(2) 5:33.02(/&  H/5(2) 5:33.77| T Hh#E(2) 5:39.00
PR O RS O |4 L5 O[S FE O|#EE+ A Blpg e p Sl B

snzsH|  a000m |HER Ex(Q) 11:12.49| T3 HkEQ2) 12:06.19| A = ONEV(2) 12:06.76 | [l A2 5 5(1) 12:11.36| 3R MF©2) 12:33.54 | Vi B (D) 12:36.76 | % i 22 28 19(1) 12:47.49|/Mhi #543(2) 13:09.91
PR O|#Ig B I B A< AN B E ERAEN e A ha ERZEN

87260 |100mHO.762m)|F 555(2) 1475|5655 #R(@2) 153586 (1) 17.06 | FAPIARE (1) 1744|078 51Hk(2) 17.48| P17 S SR 18.16| WU FFH(2) 19.07|41 % A 2) 20.17

JR:-0.9 |y A A O | $ljgg s p O |4 Eh O |8 BB O|#E FEHh O|EE:H FlEE AL Sl T S o

P s A 52.11 | FE S 52.48 | Bt R S 54.61 |2 L 55.28 | & JF 55.38 | Bl K e g v 55.47 | #IHE B Heh 55.67 | Bl L5 P B 57.39
B BRREQ) Ol&m %£A@) Ot Fawr(2) OltH #B#2) OfFEN #AQ) O EFA4u2) Ol EIR) PEII AEECLD

8126H| AX100mR  |/NEFEHHE(2) Rif F7E(2) K HEE() FRZE /IM&2) g Fnfh(2) AR R0 SEAPIEET) PR R
& A5Q) G Hibk2) Ly 3 R(2) EEa T an —1e@) B Efil) Sy Bia2) Kt B
AR ) EASLH) AR AL KB HK(2) HiE Q) ThE Q) IE EEQ) R EEQ

srzen| M HEER) 1m40 | MO0 (2) 1m35 | AP HAE(2) 1m25
Bl 3 O [BfE g O |3 ke

snoen|  ew  |BH REQ  5m05(0.2)[FAE MRE)  4mT6CO.O[INE A 4mS6(0.2)[NEFFERIER)  4m49(-0.5)[WEME FEER)  4m29(0.0)|BARHED  AmBGOS)[EA RE(D  Am2lQ.0)[FE EHEE)  4m15(0.6)
I 3 O|EjrHEEF O | EBrE e 5 [ O [ @ L5 Ot SIS Bt Bl I

sroen| A |V EHAEQ) 10m32 (Hrig hlsx(2) 9m5 1| EAHIRF(2) 9m07 |SeHF ELE(D) 8m71|AKiE F (1) 8m53| K Il FH(2) 8m09|f4 M jE(2) Tm82| A #E(2) Tm61

@.721ke) | [ 5t R O | BIEEFAS O [ |- Jre O[5 &R O[5 -5 OB e SR S5 H e HIIE S H

JLBI O A HiagRk




